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1. Azad invested Rs 55000 in a cosmetic shop for the
whole year. After 4 months of Azad, Hind joined him
and invested Rs 70000. Next year Azad invested Rs
10000 more and Hind withdrew Rs 10000 and at the
end of two years profit earned by Azad is Rs 32375. Find
the total profit if they distributed half of the total profit
equally and rest in the capital ratio.

A. Rs 89600 B. Rs 75600

C. Rs 52800 D. Rs 62900

E. None of these

2. Mukul, Atul and Rahul started a business. Mukul
invested 2/7th of the total investment and the total
investment of Mukul and Atul is equals to the
investment of Rahul. If they distributed profit in the
capital ratio and Atul received Rs 1530, find the total

profit.

A. Rs 6550 B. Rs 6920
C.Rs 7140 D. Rs 7350
E. Rs 7560

3. X andY invested the amount for ayear in the ratio of
3:5. If the next year X invested 10% more money and Y
took back 12% of his investment and X gets Rs. 3450 of
the total profit. Find the total profit.

A. Rs. 8000 B. Rs. 8250

C. Rs. 8350 D. Rs. 8050

E. None of these

4, Shubham invested Rs. 2250 in a business and after
some time Shivam also join him and invested Rs. 2500.
At the end of year Shivam received Rs. 2750 profit out
of Rs. 6050. After how much time did he join the
business?

A9 B.6

C.4 D.8

E. None of these

5. Suresh starts a business with Rs. 36000. After a
certain period of time he is joined by Deepak, who
invests Rs. 27000. At the end of the year, they divide

the profit in the ratio of 8 : 3. For what period did
Deepak join Suresh ?

A. 7 months B. 8 months
C. 11 months D. 10 months
E. 6 months

6. Priyanshiand Priyanshu enter into a partnership with
their capital in the ratio of 5: 13. At the end of 6 month,
Priyanshu withdrew his capital. If they receive the
profits in the ratio of 25 : 26 then find how long is
Priyanshi’s capital used.
A. 19 months

C. 16 months

E. None of these

B. 15 months
D. 13 months

7. Ram and Vinod start a business and invest Rs. 8000
and Rs. 16000 respectively. After 6 months, Ram
doubles his investment and Vinod increases his
investment by 50%. The business earns an annual profit
of Rs. 6912 which is distributed between them. By what
percentage is the profit earned by Vinod more than
that earned by Ram?
A. 33.3%

C.39%

E. None of these

B. 66.6%
D. 50%

8. Abdul and Karim start a business by investing a
certain amount in the ratio 9 : 16. Both of them invest
for an equal period of time. At the end of the term,
Abdul's share of profit is what per cent less than that of
Karim?

A. 62

C.55

E. None of these

B. 60
D. 43

9. Manohar and Natwar enter into a partnership with
their capital in the ratio of 5 : 11. At the end of 10
month, Natwar withdrew his capital. If they receive the
profits in the ratio of 10 : 11 then find how long is
Manohar's capital used.

A. 19 months B. 12 months

C. 16 months D. 13 months Paj
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E. None of these

10. A started a business with the capital of Rs. 12500
and after 4 months B joins A and invested Rs. 15000.
They decided 40% of the total profit will be divided
equally and remaining profit in the capital ratio. If A
gets Rs. 2000 from the total profit, Find the total
profit after one year.
A. Rs. 2750

C. Rs. 3500

E. None of these

B. Rs. 3250
D. Rs. 3750

11. P starts business with Rs.4500 and after 9 months,
Q joins with P as his partner. After a year, the profit
divided in the 3 : 5. What is Q's contribution in the

capital?
A. Rs. 5,000 B. Rs. 10,000
C. Rs. 20,000 D. Rs.30,000

E. None of these

12. P and Q started a retail store with initial
investments in the ratio 5 : 6 and their annual profits
were in the ratio 2 : 3. If P invested the money for 8
months. For how many months did Q invest his money?
A5 B. 6

C. 8 D. 10

E. None of these

13. P and Q enter into partnership. P invests some
money at beginning, Q invests double the amount after
4 months and R invests thrice the amount after 8
months. If the annual profit be Rs.32000, R's share is?
A. Rs 12,000 B. Rs 15,000

C. Rs 32,000 D. Rs 35,000

E. None of these

14. P, Q, R hired Taxi for Rs. 680 and used it for 3,5, 9
hours. respectively hire charges paid by Q are:

A. Rs 100 B. Rs 200

C. Rs 300 D. Rs 350

E. None of these

15. P & Q entered in to partnership P investing Rs 8000
and Rs 6000 respectively. After 3 months P withdrew
Rs 2000 while Q invested Rs 2000 more. After 3 more
months, R joins the business with a capital of Rs 11000.
The share of Q exceeds that of R. Out of a total profit
of Rs 35,100 after one year by.

A. Rs 2300 B. Rs 3600

C. Rs 3800 D. Rs 4200

E. None of these

16. Vibhor started a retail business by investing Rs
50,000. After six months Keisham joined him with a
capital of Rs 80,000. After 3 years. They earned a profit
of Rs 24,500. What was the Vibhor's share in the profit?
A. Rs 5500 B. Rs 8500

C. Rs 10500 D. Rs 12650

E. None of these

17. Alpana started a business investing Rs. 45,000.
After 3 months Priyanka joined her with a capital of Rs.
60,000. After another 6 months Kalpana joined them
with a capital of Rs. 90,000. At the end of the year, they
made a profit of Rs. 16,500. Find the share of Kalpana.
A. Rs. 2100 B. Rs. 3300

C. Rs.3500 D. Rs.3800

E. None of these

18. P, Q and R started a online education website by
investing Rs.1,20,000, Rs.1,35,000 and Rs.1,50,000
respectively. Find the share of Q's, out of an annual

profit of Rs.56,700.
A. Rs.12600 B. Rs.15300
C. Rs.17900 D. Rs.18300

E. None of these

19. P, Q and R start a business each investing Rs.
20,000 after 6 months P withdrew Rs.5000, Q withdrew
Rs.4000 and R invests Rs.6000 more. At the end of the
year, a total profit of Rs.39,780 was recorded. Find the
share of P.

A. Rs.10500 B. Rs.11900

C. Rs.20500 D. Rs.23500 Pa
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E. None of these 24. P, Q and R invested Rs. 45k, Rs. 70k and 90k
respectively to start a business. At the end of two
20. P and Q started a partnership business investing years, they earned a profit of Rs. 164k. What will be the
some amount in the ratio of 2 : 3. R joined them after Q’s share in the profit?
six months with an amount equal to that of Q. In what A. Rs. 56k B. Rs. 35k
proportion should the profit at the end of the one year C. Rs. 72k D. Rs. 72k
be distributed among P, Qand R? E. None of these
A 2:3:5 B: 1:3 5
C.4:6:3 D 2:8:7 25. A, B and C are partners of a company. During a
E. None of these particular year A received one-third of the
profit, B received one-fourth of the profit and C
21. A and B entered into a partnership investing Rs. received the remaining Rs. 5,000. How much
16,000 and Rs. 12,000 respectively. After 3 months, A did A receive ?
withdrew Rs. 5000 while B invested Rs. 5000 more. A. Rs. 5,000 B. Rs. 4,000
After 3 more months, C joins the business with a capital C. Rs. 3,000 D. Rs. 1,000
of Rs. 21,000. The share of B exceeds that of C, out of a E. None of these
total profit Rs. 26,400 after one year by :
A. Rs. 24000 B. Rs. 30000
C. Rs. 36000 D. Rs.-48000

E. None of these

22. At the beginning of a partnership business, the
capital of B was 3/2 times that of A. after 8 months B
withdrew 1/2 of his capital and after 10 months A
withdrew 1/4th of his capital. At the end of the year. if
the profit incurred is Rs. 53,000. Find the amount
received by A.

A. Rs. 30,800 B. Rs. 32,000

C. Rs. 30,000 D. Rs. 23,000

E. None of these

23. In a business A and C invested amounts in the ratio
2 : 1 whereas A and B invested amounts in the ratio 3 :
2. If their annual profit be Rs. 157300, then B’s share in

the profit is
A. Rs. 24200 B. Rs. 24200
C. Rs. 48000 D. Rs. 48400

E. None of these
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